® +5



(¢}

=

% 874 e A

tlo
)

afat,

oo

@D a=b°lHa+5=b+5
© a=bolHa-10=10-b
© a=b°l" —da=-4b

® a=2b°|H 2a=4b

@ 3a=3b°lHa=b

D R
=%



ojn

@ 90° ® 54°

@ 140°

@ 65°

D 22.5°



4.  (x+3y)(x-3y) & %7HotHA?

® x-3y @ x? - 3y? ® x%2 -9y

@ x4 9y? ® 2x2 - 9y?



x= -2, 10,1, 29 W, DAEEA 4- x> 33 o] 57 5
£ L BEF 57

® -2 @ -2, -1 ® -2, -1, 0
@ 2 ®1,2






olty. A, B F Ao

o <

[l

3
5

1

g0 717}

S}
=

ol® A A, B7I &4

7.



8. &Y YHE A7) flste] oz 2 2ol =5 IHY AA
12m ©] Zo]7} 3em 2 YEFET

KB = sem @ 1), AA] £59] 1) S Tsjoiel,

(> R=E m



9.

& Z23lA EF 717 99 559 @0l PB = 18,

9, PC=4 < m, x,y o gb& 5tol=t.




2x

@ vy

—2x

® y=8x



H7] FollM eAA7F opd A& 2

o
=

=

11.

® A%




@ 274 @ 374 @ 571 ® 671

@ 171



13. Thg 13} 22 0ABCD 7 BAAM o] 5
Fsfofet.

=
=

5

rr

1o
=
o



1 1
?)rxz—erZPJ

6

1
—Zx—=

6

14. o& 5«2

1 1 1
5 @x—§ ® x+1 @ x-1 @x—f—g

® x+



15. 24 V3ol @ ar+1=09 2 5 & AL 0, o 9 gE& Ftofet,

5 R
=%



@ 2 ® 3 @ 4 ® 5

D1



17. ohg 24 AA2rge] Bzl

® 2vV15 @ 37

L

® 8

ol

=

~—i--—



@ 100 @ 101 @ 102 @ 103 ® 104



A

N

B2} XOY o o] 5EAS ek

O o
J=Juu

19. o

ol
™

—_

=0B

@ 0OX

=0Y

@ OA

@ /AO0C = /XOY

® sA0OC = /POY



n__u_m,5oq U
o T .
P N > A | A
[ RSO
T
non kR R TR R R R rRHIR

— — — — ' ' — — ~—

® 671 @ 770 ® 871

@ 570

@ 47N



21. V3=a, V30 =5b < ©, V3000 9] % -2 A2

1 1 1



o

ol

@ 5



23.

ta S [27]] 222 dia EAE 27 erd 227

O©OoO>0=0 @ O0<O=0 ® <=0




ZI e sin cos tan
10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0.3640
35° 0,5736 0,8192 0,7002
45° 0,7071 0,7071 1,0000
50° 0.7660 0.6428 1,.1918
70° 0.9397 0.3420 2.7475
89° 0,9998 0.0175 57,2900

sinx = 0.5736

cosy = 0.9397

tanz = 2.7475
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5}
Zhe sin cos tan
40 0.6428 0.7660 0.8391
50 0.7660 0.6428 1.1918

@ 6.428 m @ 7.660m ® 8.391m

@ 11.918m ® 14.088m



